

VOLUME 11.1

JUNE 2003

TAJOPAAM

THE ALBERTIAN JOURNAL
OF PURE AND APPLIED MATHEMATICS

A JOURNAL DEVOTED TO
THE ENCOURAGEMENT OF
RESEARCH IN MATHEMATICS



Rev. Dr. A.O.Konnully Memorial Research Centre

Department of Mathematics

St. Albert's College, Ernakulam

Kochi-682 018, Kerala, India

Tel: 0484-2394225; Fax: 0484-2391245; E-mail: stalbertscol@sify.com



TAJOPAAM
Volume II, Number 1
June 2003
Pages: 213 - 220

ON FUZZY INJECTIVE FUZZY G-MODULES

Shery Fernandez

(Research Scholar, Department of Maths., St. Albert's College, Kochi-18, Kerala, India)

Abstract: The notion of fuzzy G-module injectivity is introduced and analysed. It is proved that every finite dimensional quasi-injective G-module is the direct sum of quasi-injective G-submodules; and if the direct sum of fuzzy G-submodules on these G-modules is fuzzy quasi-injective, then the summands are also fuzzy quasi injective.

1.Introduction

The fuzzy set theory was introduced by L.A. Zadeh[1] in 1965 . There were several attempts to fuzzify various mathematical structures. The fuzzification of algebraic structures was initiated by Rosenfield[2]. He introduced the notions of fuzzy subgroupoids and fuzzy subgroups and derived some of their basic properties.

Eckmann and Schopf [3] introduced the notion of injectivity of modules. They also proved the existence of injective hull. A number of generalizations of this notion were defined and studied by several mathematicians. [Egs: pseudo-injective modules, ker-injective modules, π -injective module, etc.]. The author studied about fuzzy G -modules and fuzzy representation in [7]. As a continuation of work [7], here the concept fuzzy G -module injectivity is introduced and analysed.

2. Preliminaries

Throughout this paper G denotes a group. A vector space M over a field K is called a **G -module** if for every $g \in G$ and $m \in M$, \exists a product (called the **action of G on M**) $g.m$ satisfying the following axioms:

- (i) $m.I_G = m$, $\forall m \in M$ (I_G being the identity element in G)
- (ii) $m.(g.h) = (m.g).h$, $\forall m \in M$; $g, h \in G$; and
- (iii) $(k_1 m_1 + k_2 m_2).g = k_1(m_1.g) + k_2(m_2.g)$, $\forall k_1, k_2 \in K$; $m_1, m_2 \in M$; $g \in G$

What we have defined above may be rightly called the **right action** of G on M . In a similar way, we can define the **left-action** and **left G -module**. In this paper, we shall restrict our attention to left G -modules. Similar results can be obtained for right G -modules also.

For G -modules M and M^* , a mapping $\varphi: M \rightarrow M^*$ is said to be a **G -module homomorphism** if $\forall m, m_1, m_2 \in M$; $g \in G$ and $k_1, k_2 \in K$:

- (i) $\varphi(k_1 m_1 + k_2 m_2) = k_1. \varphi(m_1) + k_2. \varphi(m_2)$; and
- (ii) $\varphi(g.m) = g. \varphi(m)$

All the terms and notations used in this paper are either standard or are explained as and when they appear.

2.1. Definition. A G -module M is **injective** if for any G -module M^* and any G -submodule N of M^* , every **homomorphism** from N into M can be extended to a homomorphism from M^* into M .

2.2. Example. Let $G = C - \{0\}$, the multiplicative group of non-zero complex numbers. Let $M = C$, which is a vector space over C . Then M is a G -module w.r.t. trivial G -action. Also, except the zero G -sub module, no proper subset of C becomes a G -module. Further, if X is any G -module and N is any G -submodule of X , any homomorphism $\varphi: N \rightarrow M$ can be extended to a homomorphism from X to M . Therefore M is injective. \square

2.3. Definition. Let M be a G -module. A G -module N containing M is called an *injective hull* of M if (i) N is injective (ii) There is no injective G -module L such that $M \subset L \subset N$. We denote N by $E(M)$.

2.4. Remark. From the definition of injective hull, it is the minimal, proper G -module extension of the given G -module. If no such extension of M exists then $E(M) = M$.

2.5. Definition. Let M^* and M be G -modules. Then M is *M^* -injective* if for every G -submodule N of M^* , any homomorphism $\varphi: N \rightarrow M$ can be extended to a homomorphism $\psi: M^* \rightarrow M$

2.6. Example. Let $M^* = R^n$, the n -dimensional vector space over R . Let $\{m_1, m_2, \dots, m_n\}$ be a basis for M^* . Then $M^* = Rm_1 \oplus Rm_2 \oplus \dots \oplus Rm_n$. Let $M = R$ and $G =$ any finite multiplicative subgroup of R . Then both M and M^* are G -modules. Let X be any G -sub module of M^* and $\varphi: X \rightarrow M$ be a homomorphism. (i) If $X = \{0\}$ then $\varphi = 0$, then $\psi = 0: M^* \rightarrow M$ extends φ . (ii). If $X = Rm_j$ ($1 \leq j \leq n$). Then $\psi: M^* \rightarrow M$ defined by $\psi(c_1m_1 + \dots + c_jm_j + \dots + c_nm_n) = \varphi(c_jm_j)$ is a homomorphism and ψ extends φ .

(iii) $X = \bigoplus_{j=1}^k Rm_j$, ($k \leq n$). Then, $\psi: M^* \rightarrow M$ defined by $\psi(c_1m_1 + \dots + c_km_k + \dots + c_nm_n) = \varphi(c_1m_1 + \dots + c_km_k)$ extends φ . Therefore M is M^* -injective. \square

2.7. Proposition. If M is a G -module and N is a G -submodule of M , then M/N is a G -module.

Proof. Let $g \in G$ and $x+N \in M/N$

Define $g(x+N) = gx+N \in M/N$. Then M/N satisfies all the conditions of a G -module. \square

2.8. Proposition. Let M and M^* be G -modules such that M is M^* -injective. If N^* is a G -submodule of M^* , then M is N^* -injective and M is M^*/N^* -injective.

Proof. $N^* \subseteq M^*$ and M is M^* -injective implies M is N^* -injective. Let X^1/N^* be a G -submodule of M^*/N^* and $\varphi : X^1/N^* \rightarrow M$ be a homomorphism. Let $\pi : M^* \rightarrow M^*/N^*$ be the projection map and $\pi^1 = \pi/X^1$. Then $\varphi \circ \pi^1 : X^1 \rightarrow M$ is a homomorphism. Since M is M^* -injective, \exists an extension $\theta : M^* \rightarrow M$ homomorphism of $\varphi \circ \pi^1$. Then $\theta(N^*) = \varphi \circ \pi^1(N^*) = \varphi(\pi^1(N^*)) = \varphi(0) = 0$. Therefore $\text{Ker.}\pi$ is a G -submodule of $\text{Ker.}\theta$. So \exists a map $\psi : M^*/N^* \rightarrow M$ such that $\psi \circ \pi = \theta$. Also for any $x \in X$, $\psi(X+N^*) = \psi(\pi(x)) = \theta(x) = (\varphi \circ \pi^1)(x) = \varphi(x+N^*)$. Therefore ψ extends φ . Hence M is M^*/N^* -injective. \square

2.9. Definition. A G -module M is *Quasi-injective* if M is M -injective.

2.10. Example. Let $G = C - \{0\}$ and $M = C$ which is a vector space over C . Then M is a G -module. Also from example 2.2, M is injective. Hence M is X -injective, for any G -submodule X of M . In particular, let $X = M$, then M is M -injective. Therefore M is quasi-injective.

2.11. Definition. Let M and M^1 be G -modules. Then M and M^1 are *relatively injective* if M is M^1 -injective and M^1 is M -injective.

3. Injectivity and Quasi-injectivity of fuzzy G -modules

3.1. Definition. Let M and M^1 be G -modules. Let μ be any fuzzy G -module on M and ν be any fuzzy G -module on M^1 . Then μ is ν -injective if (i) M is M^1 -injective, and (ii) $\nu(m^1) \leq \mu(\psi(m^1))$, for every $\psi \in \text{Hom}(M^1, M)$.

3.2. Example. Let $G = (i) = \{1, -i, v, -i\}$. Let $M = C$ and $M^1 = Q(i)$. Then M and M^1 be G -modules. Define $\mu : M \rightarrow [0, 1]$ by

$$\begin{aligned} \mu(x) &= 1, \text{ if } x = 0 \\ &= \frac{1}{2}, \text{ if } x \in C - Q(i) \\ &= 0, \text{ if } x \in Q(i) - \{0\} \end{aligned}$$

Then μ be a fuzzy G -module on M . Define $v : M^1 \rightarrow [0,1]$ by $v(x)=0, x \in M^1$. Then v be a fuzzy G -module on M^1 . Let X be any G -submodule of M^1 . Then either $X = \{0\}$ or $X = M^1$. Let $\varphi : X \rightarrow M$ be any homomorphism (i) If $X=\{0\}$, then $\varphi = 0$, so $\psi = 0 : M^1 \rightarrow M$ extends φ . (ii) If $X= M^1$, then $\psi = \varphi$ extends φ . Therefore M is M^1 - injective. Also $v(m^1) \leq \mu(\psi(m^1))$, for every $\psi \in \text{Hom}(M^1, M)$ and $m^1 \in M^1$. Therefore is v -injective. \square

3.3. Proposition. *Let M be a G -module and N be a G -submodule of M . If M has a fuzzy G -module, then N and M/N has fuzzy G -modules.*

Proof. Let μ be a fuzzy G -module on M then $v = \mu|_N$ is a fuzzy G -module on N . Define $\psi : M/N \rightarrow [0,1]$ by $\psi(x+N) = \mu(x), x+N \in M/N$. Then ψ is a fuzzy G -module on M/N . \square

3.4. Proposition. *Let M and M^1 be G -modules such that M is finite dimensional and M is M^1 - injective. Let $B = \{\beta_1, \beta_2, \dots, \beta_n\}$ be a basis for M . If $v(m^1) \leq \min_j \mu(\beta_j)$ for all $m^1 \in M^1$, where μ and v are fuzzy G -modules on M and M^1 respectively, then μ is v -injective.*

Proof. Let F be the scalar field of M and $\psi \in \text{Hom}(M^1, M)$. Since μ be a fuzzy G -module on M , we have

$$\mu(ax+by) \geq \min\{\mu(x), \mu(y)\}, \text{ where } x,y \in M, a,b \in K \tag{1}$$

Let $m^1 \in M^1$. Then $\psi(m^1) \in M$, so $\psi(m^1) = a_1\beta_1+a_2\beta_2+\dots+a_n\beta_n$; $a_i \in K, \beta_i \in M$. Then $\mu(\psi(m^1)) \geq \min_j \mu(\beta_j) \geq v(m^1)$ [from (1) and assumption] Therefore $v(m^1) \leq \mu(\psi(m^1))$ for all $\psi \in \text{Hom}(M^1, M)$ and $m^1 \in M^1$. Therefore μ is v -injective. \square

3.5. Definition. Let μ and μ^1 be fuzzy G -modules on a G -module M . Then μ^1 exceeds μ if $\mu(m) \leq \mu^1(m)$ for all $m \in M$.

3.6. Example. Let $M= C$ and $G = (i)$. Then M be a G -module. Define $\mu, \mu^1 : M \rightarrow [0,1]$ by

$$\begin{aligned} \mu(x) &= \frac{1}{2}, \text{ if } x = 0 \\ &= \frac{1}{4}, \text{ if } x \neq 0 \text{ and} \end{aligned}$$

$$\begin{aligned}\mu^1(x) &= 1, \text{ if } x = 0 \\ &= \frac{3}{4}, \text{ if } x \text{ is non-zero real} \\ &= \frac{1}{2}, \text{ if } x \text{ is purely complex}\end{aligned}$$

Then μ and μ^1 are fuzzy G -modules on M and $\mu(m) \leq \mu^1(m)$ for all $m \in M$. Therefore μ^1 exceeds μ . \square

3.7. Proposition. *Let M and M' be G -modules, μ be a fuzzy G -module on M and ν be a fuzzy G -module on M' such that μ is ν -injective. If N^1 is a G -submodule of M^1 and ν^1 be a fuzzy G -module on N^1 then μ is ν^1 -injective if ν exceeds ν^1 on N^1 .*

Proof. Since M is M^1 -injective and N^1 is a G -submodule of M^1 , it follows from Proposition 2.8. that M is N^1 -injective. Let $\psi \in \text{Hom}(N^1, M)$. Since M is M^1 -injective, \exists an extension homomorphism $\varphi: M \rightarrow M^1$ so that $\varphi|_{N^1} = \psi$. Since μ is ν -injective, $\nu(n^1) \leq \mu(\varphi(n^1)) = \mu(\psi(n^1))$, for all $n^1 \in N^1$. Given $\nu^1(n^1) \leq \nu(n^1)$. Therefore $\nu^1(n^1) \leq \mu(\psi(n^1))$ for all $\psi \in \text{Hom}(N^1, M)$ and hence μ is ν^1 -injective. \square

3.8. Remark. Let μ be a fuzzy G -module on M and let $r \in [0, 1]$. Let $\mu_r: M \rightarrow [0, 1]$ be defined by $\mu_r(m) = r \cdot \mu(m)$, $\forall m \in M$. Then μ_r is also a fuzzy G -module on M and μ exceeds μ_r for any $r \in [0, 1]$.

3.9. Proposition. *Let M and M^1 be G -modules and let the scalar field of M^1 be a subfield of C . Let μ be a fuzzy G -module on M and ν be a fuzzy G -module on M^1 such that μ is ν -injective. Then for every $r \in [0, 1]$ ν_r is a fuzzy G -module on M^1 and μ is ν_r -injective.*

Proof: Follows from the remark 3.8 and proposition 3.7. \square

3.10. Proposition. *Let μ and ν be fuzzy G -modules on G -modules M and M^1 respectively such that μ is ν -injective. Let N^1 be a G -submodule of M^1 and $\nu^1 = \nu|_{N^1}$. Define $\psi: M^1/N^1 \rightarrow [0, 1]$ by $\psi(m^1 + N^1) = \nu(m^1)$, $m^1 \in M^1$. Then ψ is a fuzzy G -module on M^1/N^1 and μ is ψ -injective.*

Proof. It follows from proposition that ψ is a fuzzy G -module on M^1/N^1 and μ is ν^1 -injective. Since N^1 is a G -submodule of M^1 , by proposition 2.8, M is M^1/N^1 -injective. Let $\varphi \in \text{Hom}(M^1/N^1, M)$. Since M is M^1 -injective, \exists an

extension $\varphi^1 \in \text{Hom}(M^1, M)$. Since μ is v -injective and $\varphi^1 \in \text{Hom}(M^1, M)$, $v(m^1) \leq \mu(\varphi^1(m^1))$. Now, $\mu(\varphi^1(m^1+N^1)) = \mu(\varphi^1(m^1)+0) = \mu(1.\varphi^1(m^1)+1.0) \geq \mu(\varphi^1(m^1)) \wedge \mu(0) = \mu(\varphi^1(m^1))$. Hence $\psi(m^1+N^1) = v(m^1) \leq \mu(\varphi^1(m^1)) \leq \mu(\varphi^1(m^1+N^1)) = \mu(\varphi(m^1+N^1))$ for all $\varphi \in \text{Hom}(M^1/N^1, M)$ and $m^1+N^1 \in M^1/N^1$. Therefore μ is ψ -injective. \square

3.11. Definition. Let M be a G -module and μ be a fuzzy G -module on M . Then μ is **fuzzy quasi-injective** if (i) M is quasi-injective, and (ii) $\mu(m) \leq \mu(\psi(m))$, for every $\psi \in \text{Hom}(M, M)$ and $m \in M$.

3.12. Proposition. Let M be a G -module and $M = \bigoplus_i^n M_i$, where M_i 's are G -submodules of M . If $v_i (1 \leq i \leq n)$ be fuzzy G -modules on M_i , then $v : M \rightarrow [0, 1]$ defined by $v(m) = \bigwedge_i \{v_i(m_i)\}$, where $m = \sum_i^n m_i \in M$, is a fuzzy G -module on M .

Proof. Straight forward. \square

3.13. Definition. The fuzzy G -module v on $M = \bigoplus_i^n M_i$ in the preceding proposition with $v(0) = v_i(0)$ for all i , is called the **direct sum** of the fuzzy G -modules v_i and is denoted by $v = \bigoplus_{i=1}^n v_i$. Now, we state some theorems regarding these notions, omitting their proof.

3.14. Theorem. Let G be any group and let M and M^* be G -modules. Then M is M^* -injective if and only if $\psi(M^*)$ is a G -module of M for any $\psi \in \text{Hom}(E(M^*), E(M))$.

Corollary (1). Let G be any group and M be a G -module. Then M is quasi-injective iff $\psi(M)$ is a G -submodule of M for every $\psi \in \text{End}(E(M))$ \square

Corollary (2). Let M and M^l are relatively injective G -modules and G , a subgroup of R . If $E(M) \approx E(M^l)$ then $M \approx M^l$. In fact, any isomorphism $E(M) \rightarrow E(M^l)$ restricts to an isomorphism $M \rightarrow M^l$. Further, M and M^l are quasi-injective. \square

3.15. Theorem. Let M be a G -module such that $M = \bigoplus_i^n M_i$, where M_i 's

are G -submodules of M . Let v_i 's be fuzzy G -modules on M_i 's and let $v = \bigoplus_1^n v_i$. Let μ be any fuzzy G -module on M . Then μ is v -injective if and only if μ is v_i -injective for all i . \square

3.16. Theorem. Let M_1 and M_2 be G -submodules of a G -module M such that $M = M_1 \oplus M_2$. If M is quasi-injective, then M_i is M_j -injective for $i, j = 1, 2$. If v_i 's are fuzzy G -modules on M_i ($i = 1, 2$) such that $v = v_1 \oplus v_2$ and v is quasi-injective, then v_i is v_j -injective ($i, j = 1, 2$) \square

Corollary. Let $M = \bigoplus_{i=1}^n M_i$ be a G -module, where M_i 's are G -submodules of M . If M is quasi-injective then M_i is M_j -injective for $1 \leq i, j \leq n$. Also if v_i 's are fuzzy G -modules on M_i 's such that $v = \bigoplus_{i=1}^n v_i$ and if v is quasi-injective then v_i is v_j -injective for $1 \leq i, j \leq n$. \square

3.17. Theorem: Converse of the preceding theorem holds if $M \subseteq E(M_i)$ for $i = 1, 2$ \square

4. References

- [1] LA. Zadeh, Fuzzy Sets, Inform. Control, 8 (1965), 338-353
- [2] A. Rosenfield, Fuzzy Groups, J. Math. Anal. Appl., 35 (1971), 512-517
- [3] B. Eckmann and A. Schopf, Uber Injektive Moduln, Arch. Math, (1953)
- [4] S.H. Mohamed and Brune. J. Muller, Continuous and Discrete Modules (Cambridge University Press, 1990)
- [5] John. N. Mordeson and D.S. Malik, Fuzzy Commutative Algebra, (WSP, 1998)
- [6] Charls W. Curtis and Irving Reiner, Representation Theory of Finite Group and Associative Algebra (John Wiley & Sons, 1962)
- [7] Shery Fernandez, Fuzzy G -Modules and Fuzzy Representations, TAJOPAAM, 1(2002) 107-114.